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u
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p
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n
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ldValue =2.3436e-006

O
ldPoint =1.0e-003 *[-0.2139  0.2139   -0.1984]  O

ldValue =4.1926e-007
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p
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u
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p
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p
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p
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p
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c
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c
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p
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n
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c
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c
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c
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u
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M
inValue1 = 38.1600

M
in1 =[  0

           0.4000
               0 ]

M
inValue2 = 36.0903

M
in2 =[ 0.5000

              0.3333
              0.2500]

M
inValue3 = 34.0060

M
in3 =   [-0.4833

                  0.6111
                  0.4583]

after 20 iterations

M
inValue4 =0.0975

M
in15 =  [0.9648

                 5.2921
                 4.1044]

exact solution [1.0  5.0  4.0]'


